

The properties of Natural Numbers:-

1. $n+m = m+n \quad \forall n, m \in \mathbb{N}$ قانون التجميع
2. $(n+m)+p = n+(m+p) \quad \forall n, m, p \in \mathbb{N}$ قانون التجميع
3. $nm = mn \quad \forall n, m \in \mathbb{N}$ قانون التجميع
4. $(nm)p = n(mp) \quad \forall n, m, p \in \mathbb{N}$ قانون التجميع
5. $n(mp) = nm \cdot p \quad \forall n, m, p \in \mathbb{N}$
6. if $n+p = m+p \Rightarrow n=m \quad \forall n, m, p \in \mathbb{N}$ خاصية الإلغاء
7. if $np = mp \Rightarrow n=m \quad \forall n, m, p \in \mathbb{N}$ خاصية الإلغاء

Proof (1):- let $M = \{m \in \mathbb{N} : n+m = m+n, \forall n \in \mathbb{N}\} \subseteq \mathbb{N}$
to prove

1. $1 \in M$, Now

$$n+1 = n^* = 1+n \text{ hence } 1 \in M.$$

2. let $m \in M$ i.e. $n+m = m+n$

3. to prove $m^* \in M$

$$\because n+m^* = (n+m)^* = (m+n)^* \quad \text{من تساوي القوائم}$$

$$= 1+(m+n) = (1+m)+n = m^*+n$$

$$\therefore m^* \in M \text{ and by } P_4 \quad \therefore M = \mathbb{N}$$

Proof (2): - let $M = \{p \in \mathbb{N} : (n+m)+p = n+(m+p), \forall n, m, p \in \mathbb{N}\}$
 to prove $M = \mathbb{N}$.

1. $1 \in M$, let $p=1$

$$\therefore (n+m)+1 = (n+m)^+ = n+m^+ = n+(m+1) \Rightarrow 1 \in M.$$

2. let $p \in M$

$$\text{i.e. } (n+m)+p = n+(m+p).$$

3. to prove $p^+ \in M$

$$\begin{aligned} \text{Now, } (n+m)+p^+ &= [(n+m)+p]^+ \quad \text{by (1)} \\ &= [n+(m+p)]^+ \quad \text{p.e.m.} \\ &= n+(m+p)^+ \\ &= n+(m+p^+) \Rightarrow p^+ \in M \\ &\therefore M = \mathbb{N} \text{ by } (P_4). \end{aligned}$$

Proof (4): -

$$\text{let } M = \{p \in \mathbb{N} : (nm)p = n(mp), n, m \in \mathbb{N}\}$$

1. If $p=1$, then $(nm)1 = nm = n(m1) \Rightarrow 1 \in M$.

2. Suppose that $p \in M \therefore (nm)p = n(mp)$.

3. Now, we prove $p^+ \in M$

$$\begin{aligned} (nm)p^+ &= nm(p+1) = nmp + nm \\ &= n(mp + m) \\ &= n(m(p+1)) \quad \text{دالة مشتركة} \\ &= n(mp^+) \end{aligned}$$

$$\therefore p^+ \in M \text{ and } P_4 \ M = \mathbb{N}.$$

proof (6):-

$$\text{let } M = \{p \in \mathbb{N} : \text{if } n+p = m+p \Rightarrow n=m, \forall n, m \in \mathbb{W}\}$$

1. to prove $1 \in M$, let $p=1$

$$\therefore n+1 = m+1 \Rightarrow n^+ = m^+ \Rightarrow n=m \Rightarrow 1 \in M.$$

2. let $p \in M$ i.e. if $n+p = m+p \Rightarrow n=m$.

3. to prove $p^+ \in M$

$$\text{if } n+p^+ = m+p^+$$

$$\Rightarrow (n+p)^+ = (m+p)^+$$

$$\Rightarrow n+p = m+p$$

إذا تساوت المتوابع
فمتساوية الأعداد

$$\text{from (2)} \Rightarrow n=m \Rightarrow p^+ \in M.$$

$$\therefore M \equiv \mathbb{N} \text{ by } P_4.$$

proof (7):-

ثبوت M جزئية من $\mathbb{N}$

$$\text{let } M = \{p \in \mathbb{N} : \text{if } np = mp \Rightarrow n=m, \forall n, m \in \mathbb{W}\} \subseteq \mathbb{W}$$

1. to prove $1 \in M$

$$\text{If } p=1 \therefore n \cdot 1 = m \cdot 1 \Rightarrow n=m \Rightarrow 1 \in M.$$

2. let $p \in M$ i.e. $np = mp \Rightarrow n=m$.

3. to prove $p^+ \in M$

$$\text{if } np^+ = mp^+ \Rightarrow n(p+1) = m(p+1)$$

$$\Rightarrow np + n = mp + m$$

$$\Rightarrow n = m$$

حسب خاصية الهدف
لان عملية الهدف تنتج عملية الجمع
نفس الشيء

$$\therefore p^+ \in M \Rightarrow M \equiv \mathbb{N} \text{ by } P_4.$$

الهدف
من
الجزء

Theorem* ^{جی و اس سے فقط یقیناً} If $n, m \in \mathbb{N}$, then exactly one of the following hold $m=n$ or $m < n$ or $m > n$.

Proof:- If m or n is equal to 1, then the theorem is true. (since $\forall n \neq 1 \Rightarrow n > 1, \forall n \in \mathbb{N}$).

Now, we must suppose that $n \neq 1, m \neq 1$, we use the Mathematical Induction.

$$\text{let } S_1 = \{x \in \mathbb{N} : x = n\}$$

$$S_2 = \{x \in \mathbb{N} : x > n\}$$

$$S_3 = \{x \in \mathbb{N} : x < n\}$$

and let $S = S_1 \cup S_2 \cup S_3$, $S_1 \cap S_2 = \emptyset$ and $S_2 \cap S_3 = \emptyset$,
 $S_1 \cap S_3 = \emptyset$

Now, 1. $1 \in S$ since $\forall n \neq 1, n > 1 \Rightarrow 1 \in S_3 \subset S \Rightarrow 1 \in S$.

2. let $k \in S \Rightarrow k \in S_1$ or $k \in S_2$ or $k \in S_3$.

3. to prove $k^+ \in S$.

(a) let $k \in S_1 \Rightarrow k = n \Rightarrow k^+ = n^+ \Rightarrow k^+ = n+1 \Rightarrow k^+ > n$
 $\Rightarrow k^+ \in S_2 \subset S$.

(b) If $k \in S_2 \Rightarrow k > n \Rightarrow \exists l \in \mathbb{N}$ s.t. $k = n+l$

Now, $k^+ = (n+l)^+ = \overset{n+l^+}{n+(l+1)} \Rightarrow k^+ > n \Rightarrow k^+ \in S_2 \subset S$.

(c) If $k \in S_3 \Rightarrow k < n \Rightarrow k^+ \leq n$ (by Lemma $\forall n, m \in \mathbb{N}$,

Now, if $k^+ = n \Rightarrow k^+ \in S_1 \subset S$

if $k^+ < n \Rightarrow k^+ \in S_3 \subset S$

$\therefore k^+ \in S$

$\therefore S \equiv \mathbb{N}$.

if $m < n$ then $m^+ < n$)

$k < n \Rightarrow k+l = n$

$(k+l)^+ = n^+$

$k+l^+ = n^+$

Proof (*): suppose that $n < m$, then

$\exists k \in \mathbb{N}$ s.t. $n+k=m$ and $\exists p \in \mathbb{N}$ s.t.

$$\begin{aligned} P(n+k) &= p_m \Rightarrow p_n + p_k = p_m \\ &\Rightarrow p_n < p_m \quad (p_k \in \mathbb{N}) \end{aligned}$$

← suppose that $n_p < m_p$, then

From theorem * (If $n, m \in \mathbb{N}$, then exactly one of the following hold $m < n$ or $m = n$ or $m > n$)

we get

$$\text{if } n=m \Rightarrow n_p = m_p \text{ C!}$$

$$\text{if } n > m \Rightarrow n_p > m_p \text{ C!}$$

$$\therefore n < m.$$

if $P(n+k) = p_2$, then —

$$p_n + p_k = p_2$$

$$p_n < p_2$$